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GCTGCTG GTCACGATCT
CATGTTGGCC AccaccaoTe AACCCAGCCT TCCACTCAAC |

AACTTGCTGA GeaTceceea GTCAAGGGTA ACCCCCCAAA
GCACTAGACT ceTeanaTa CACAGCCGGA ATGCTATTTC
CCCGACGTTT ATCAAGCATC GOGAGGCAAA CTTCAGCCTC
CGTGEGACTE GTCGTCGEAT GGETETACCC ACGTCCCGGA C
GGCTTCCCAT TCARGCCGGE GTGCCAGCST CACGA TG Gl
CTACCAGC B CANTTYERPPTTRCO*CCBes: =5
AGAATTTCCT CARAGACATG AMATTCCAGT GCATAGGGCA
ACATGTTTAT CATTGGGGAG TC
ACCOTGAGAG TGAGCCGTCT
GAATCGTCCG ACGTGTTTGA
TCTCRATCCA TATCTTTCTG
? CCCTAGCGCG TTACAACAAG.
ARAGCCATGEC GCAAGGCATT GACCTTCAGAAATACTS
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